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Please check whether you have got the right question paper.

N.B -

1. All questions are compulsory.
2. Figures to the right indicate full marks.
3. Answers to each question must begin on a new page.

Q.1 A) Fill in the blanks with the appropriate option given in the bracket: (Any 10) (10)

1. is not a function of business. (Production/ Marketing/ Profit earning)

2. is a social objective of business. ( Fair wages/ Satisfy creditors/ Survival)
3. is not aids to trade. (Transportation / Insurance/ Wholesale trade)

4. refers to transfer of any government function to the private sector.

(Globalization/ Privatization/ Liberalization)

5. means converting loss making company into profit making. ( Liberalization/
Turnaround/Globalization)

6. is external environmental factor affecting business. ( Political environment/
Vision/ Employees)

7. EU stands for (European Union/Europe United/Europe Undivided)

8. is an example of internal growth strategy. (Merger/ Product Development/Joint
Venture)

9. IS necessary to promote women entrepreneurship. ( Education & Training/
Mental Stress / old customs and traditions)

10. is an example of commerce with reference to scope of business (manufacturing
unit/Travel Agency/Agriculture)

11. WTO replaced (GATT/GATS/GAST)

12. is concerned with foreign investments. (TRIPS/TRIMS/GATS)

B) State whether the following statements are true or false: (Any 10) (10)

1)
2)
3)
4)
5)
6)
7)
8)
9)

Business is a socio-economic activity.

All entrepreneurs are promoters but all promoters are not entrepreneurs.
Obijectives can never be expressed in quantitative terms.

Buy back of shares is an example of financial restructuring.

There is no need for business to invest in research and development.
Mining is an example of Extractive industry

PAN is necessary for filing of income tax return.

Turnaround can work even when there is no viability of business.
Amalgamation means takeover of business of another company.

10) Government policies are a component of an economic environment
11) There is no need to do analysis of internal and external environment by the businesses.
12) Every entrepreneur turns his dreams into reality.

Q.2 Answer any two of the following: (15)
a. Define Business & explain its features.

b

. Discuss the steps involved in setting of business objectives.

c. What is Globalization? Explain its impact on the Indian economy.

Q.3 Answer any two of the following: 15
a. Define Business Environment. Explain its importance.

b

. Explain the components of internal environment affecting Business.

c. What are the implications of World Trade Organization on developing nations?

Q.4 Answer any two of the following: 15
a. What is meant by feasibility study? Explain its types.

b

. Explain briefly the various laws that are influencing the running of a business.

¢. What are the steps involved in setting up of a business unit?
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Q.5 Answer any two of the following: 15
a. Explain the factors contributing to growth of Entrepreneurship in India
b. What are the various types of entrepreneurs?
c. Highlight the problems faced by women entrepreneurs in India.

Q.6 Write notes on: (Any 4) 20
a. Educational environment in India.
b. Factors determining location of a business unit.
¢. Human Objectives.
d. Project Report.
e.. Intrapreneur.
f. SAARC.
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A% : 3 @ THUT 70T : 00

(2) | woA AR aTmed.
(R) IS ek 1T giferdTa.
(3) Tch TRAT Iec e qHTeK & .

20

(2) e, FELIRICEEIR I
(IcqTed / Tour / T SHHfem)

() e, T SIIE "G 3(esed 3R,
(@ ol / ESEre FaHE /Rt TE)

(3) ceeeennnnn.. BT 3TNfTeh SR AR,
(AETH / TomT / T SUR)

(%) e, TEUS SRR R WIS STehe gEdTdid vl
(STTTfCrehIehtoT / WISHIeRTol / IGRIehTuT)

CY TEUS dieITd ST 9] TR 37001 B,
(ST / QT ferelt/ SATfcrehishion)

(&) evevnnnne BT SFFEETET TN ST STel GIeu=] s 3R,
(TSR TRTeRYT / LgSel /. hHeET)

(o) EU=S oo w%9 .......... AR,
(F0TRA g/ w0/ 9 stfeer)

P8 YARES 7 3T JG1 A= ¢ TR
(faferfierton / o fase / oy @TEq)

(]) HiEET JESTRAT TedTE IR ... T 3R,
(Frequr 9 SiR1&r / JFfEe aor / 1 &6l 9 )

($0F X v 1205 T U STHAT N 3TV A1 3eTetvl 378,
(TG HREMT / T I / el

(22) WTOF ..o I T,
(GATT / GATS/ GAST)

o 9 A ST B TR TEhIRT A TS
(TRIPS/TRIMS/ GATYS)
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(R) T& IANH 7 Jeldeh TEATd Y07 Tl Jelcieh & 3gANSTeh T,

(3) 3fesed ) wiferhia ugdiv edifadt Ad A=A,
(%) 9T gHERel 3 foxfia giter= 3eet o1,

(1) STIHRMES GG 9 TIhmmETd! Taaveh oA T/ ATl

(&) WUTRH 8 WSl ISATT 38T 3717,
(to) TR fereor v wwoamaErdt PAN 31mavass 3R,
(¢) STIHRTE SFTERIdT TR g% e 3urft ued.

(R) USHATeRLTT TUS GH=AT U4 ST el Bl

(%0)ETEhIl TRUT BT ATIeh JATSRUET Beeh 3TT8.

(%) STIEMT 3TaTd o el Ao fovetyur shioamslt TR ATEt.

(2R) T 3IINTh AT & oITd Ialddl.

GTeiied I Sl T, (ShIOTCATE! gH)
(%) TTERT AT eI1. A= ATITSet T .
() FIERETE 3fevext SqHT=aT I==AT 9.

Y

(3) STfcehIeRtol TEUTS I ? o=l WA Hfegeideiiel IRomg T .

Wil I Icak eaT. (ShIvTedTel )
(%) SITSHTRIeh JATOM= SINET cIT. A= Hecd T .
() STSHRITEE IO ST STTd Yeoe 8deh TI5¢ .

3

(3) faraasiict e STfdes SAUR o=t i YoM STl 378 7

Wil I 3cdl <31, (ShIvTeaTal i)
(%) TTERAT THEET 37 HE ? AT ThR T FH.

3

() IE™ ITARAHT ITeT IRUmH HUR fafay R aigsmg T .

(3) TelH HIER LATIH HLAHETAT YR iUl ATed 7

Wil YT Jeak 1. (SHIvcaTa! TF)
(%) VAT IcTISTehd I AN TR Hdsh TS .
(R) Scars= fafay TR v 3Rd ?

3

(3) YRAME YigaAT ScASThAT TTHR ST SART=AT STSEuiAT TURRad .
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&. oierq four feen. (hivreamsl =m) 0
(%) WRATS QAferes qaieron
(R) =emrTE T e sane ueh
(3) gt 3feser
(¥) Sehed TEdTA
(&) 3Tald IgAITh
(s) SAARC
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